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Problem.1 Urn I contains three red and seven black balls, Urn II contains five red
and tow black balls, all balls are of the same size. One ball from Urn I is
selected at random and placed in Urn II, then a ball is selected randomly
from Urn II.

a. Write the sample space.(4-Points)

b. what is the probability that the second ball selected is red?(6-Points)

Problem.2 Solve problem 9 page 87 of your text book. (5-Points)

Problem.3 Solve problem 38 page 90 of your text book. (4+4=8-Points)

Problem.4 Solve problem 13 page 174 of your text book. (7-Points)
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